
Question 1. 

A 48 year old female pedestrian vs car. She was wearing headphones and didn’t hear the car 
turning. Collision to knee with car bumper. Isolated injury but non weight bearing since.


Describe and interpret the images below.


Discuss your management




Question.2. 

34 year old motorbikerider, travellling ~50kph and wearing normal runners. When attempting to 
avoid collision with another vehicle instinctively put out his foot as his motorbike veered off road.


He describes acute pain and dyseasthesia to his toes. There is deformity to his ankle and midfoot.


Describe and interpret the image below.


Discuss your management


